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With alphabet T and with w,v,w € T, o, 8,v € FL(T). D € toer(T). g.h € exp(tder(T)) = TAut(T).
Checkmmarks (v') as in CheatSheetJ-Verification.nb.

1
1. The definition of .J: Julvy) = / ds div, (v J RCY) J O
J0

2. v The t equation (desired): T ' -
Ju(y [ tmE) J ROV — g (y) J tm® ) RO & J,(y ) RCT) | RCYRCE )t

3. v The h equation (desired): Jo(beh(a. 8)) = J, () + T8 ) RCS) J C.°
4. RC equation f: tm ) RO — RO I?(",'_":?'R(r: Aty
5. RC equation h: RCY™MH) = R | ROSIRCE
6. RCC equation div: div,(a f RCY) fCT =7
7. CRC equation div: div,(a f C7) J RC] =7
8. div property t: div, (y f tmy") = (div,(v) + div,(y)) J tmy!
9. v div property h the “cocycle condition”: with ad,{~} := der(u — [v.u]).
(div, a) J ad, {8} — (div, 8) J ad,{a} = div, ([e. 8] +  J ad, {8} — 8 J ad, {a})
10. div of beh: div,(beh(e, 8)) =7
11. The definition of JA: JAL(y) = Ju(v) ) RC]
12. The ODE for JA: with v, =~ J RCSY,
. 1JA(s .
JA(0) =0, ‘ I{S) = JA(s) [ ad, {7} + divy e, JA(L) = JA,(y)
ds
13. The relation with toer: erdulr} — Cand €7 = erdud?}
1 A 1
14. The definition of j (following A-T): j(e?) = / ds e’ (div D) = ‘ (div D)
Jo
15. j's cocyele property: dlgh) = jlg) +g-jlh)
1 — {:—:ui'j- Ir.arl'} —1 )
16. The differential of exp: el =l | ——— ) (dy) = (dy) - e
ad ~ ad ~
17. v The differential of v = beh(a, 4):
1 — '_.—e\rl':,- {6’\) B __-,.‘1_,i1 _ {,—arlu ({50(:] N 1 — ‘,,—éiflj (66)
ad v K ad o ad 3 '
ady 1
18. v The differential of (" aC = ad, { (( 1 ) (o) J R("nﬂ} s
ad~y
. , | —e ™7y
19. v The differential of RC": ARCY = RCY J ad, {(%) (dy) J R(T}}
ad~
20. The differential of .J: 0. (v) ="
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